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General Instructions :

(i)
(ii)

(iii)

57(B)

All questions are compulsory.

This question paper consists of four Sections A, B, C and D.
Section A contains 8 questions of one mark each, Section B is
of 10 questions of two marks each, Section C is of 9 questions of
three marks each and Section D is of 8 questions of five marks
each.

There is no overall choice. However, an internal choice has been
provided in one question of 2 marks, one question of 3 marks

and two questions of 5 marks weightage. A student has to
attempt only one of the alternatives in such questions.

TUE A
SECTION A
U e Farsy 6 Je-fafagd Flewic an w1 waivw gen w&
YeH I St R |

State one reason why maximum protection is provided to
biodiversity ‘hot-spot’ regions.




qa S ° U W-wsk 8 g fha even famifd g 8 2

How many ova/ovum does a human female normally release in
one menstrual cycle ?

B-eHiehupet gra 3= wfafust (Thaigher) & Hol, sl |31 &1 &
STl 8 2 Ueh U1 9qrsy |

Why are the antibodies produced by the B-lymphocytes
referred to as HyLy ? Give a reason.

UeAsit 3fshaT B O SIfTh1aT &1 991 &1 gaT 8, Sdmsy |

State the function of mast cells in allergy response.

FAINT dFT | ‘ori’ 1 YT FART |

Mention the role of ‘ori’ in a cloning vector.

Cry II Ab 7 & fote e e &1 a5fes 9w fafaw |

Write the scientific name of the source organism for the gene
Cry II Ab.

GEAC &I gU-q0 fafEn |
Expand GEAC.

freft ommgaeisll (VieTeod) # gemelSmRl/AUTETi % & H
A Sas 6 B F HE TER w1 FIREw-EeE g g,
am fafew |

Mention the type of cell division the cells of the sporogenous
tissue undergo to form microspores/pollen grains in an
angiosperm.
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SECTION B

9. THH UAWE A FASA TSl o S U T Srell SAauedieis
qUE{sHaT 1 A fafae g 39« fawg § guemsu |

Name and explain the interspecific interaction that exists
between sea anemone and the clown fish.

10. (a) Ta=fafiga d @ fora wifor § smer f== g 8 2

()  Ufrmfaaa
(i) (<Ee™
(iii) waft

(iv) wafoaar

(b) SIS &1 Teh ITATH Id15U |

(a) Which of the following animals undergo external
fertilization ?

(i) Amphibians
(i1) Reptiles
(iii) Birds

(iv) Fish

(b) Mention one disadvantage of external fertilization.

11. IHI & TH-Uh ISEW ¢d gU, Hishd Tfoterwr Tg que Tioremo H 3
ERIES
Differentiate between active and passive immunization giving
one example of each.
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13.

14.

15.

16.
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gameil § ‘eftwy Ud Uewlaiad QeuANT & S IR GEE SaeH Rl
hl F=T 16T |

List four common warning signs of ‘drug and alcohol abuse
among youth.

TIEEATEHT SH EOSal @l 9 I W ITH w1 ¥ HE W 8,

HEATRT |
Explain the importance of growing microbes like Spirulina on
a large scale.

Ut 13 9r fafedi 6 TR s9Ee 59 g figl § et 9
foRan ST wEE ITeA H e g gIT @ |

List any four ways in which genetic modification of plants has
proved to be useful in crop production.

SIEdenfiehl S # ITEM Y W aTel DNA @Sl % s H
TS HI T FTell Al H1 AW fAfe | DNA @Uei &1 9o

forg g foman sran 2, fafam |

Name the technique used in separating the DNA fragments to
be used in biotechnology experiments. Write how does the
separation of DNA fragments occur.

frafafaa % gwfaa SHyey fafav

(a) Tt ws fawmgmst 2 g 919 991 wF 94 AR 9iY & o=
HHU HUH W IH F, Fad &

(b) 3@ Gft %1 s 93 &1 & a9z ‘O’ 7, qU1 I Ufd H T
%‘A’%

Write the possible genotypes of the following :

(a) The F; progeny of a cross between a heterozygous tall
pea plant and a dwarf pea plant.

(b) The woman whose son has blood group ‘O’ and her
husband has blood group ‘A’.

?
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18.
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qHal § S fGgm q9m e g 819 1 ST9A1-3{9AT &1 Rl Bl
&, fafey |

Mention the cause of Down’s syndrome and Turner’s syndrome
respectively in humans.

‘eifda & T vaft oTgeett fafeor &1 ww 3w 3@ & | 35
e samy |

HATT

fr=fafigd # @ 9 FF-3H A ITEW & I= TgaHC fSAH qEgha o
Fd 9T I & SR A1 @ wHfae™ % 39 Y9 & AW Ht faRae
fraes gfomreasy 9 e &

(a) SATFIYE YT T hl @

(b) WHal a1 Hid % W UG

(c) SFHATAAAT % I TAT FF & TqH
(d) YISl ae SifewHl o fFead (31)

‘Darwin’s finches are a good example of adaptive radiation.’
Justify.

OR

Identify the examples of analogous organs from the following
and name the type of evolution these are the result of :

(a) Eyes of octopus and mammal
(b) Fore limbs of human and cheetah
(c) Thorns of Bougainvillea and tendrils of Cucurbita

(d) Flippers of penguins and dolphins
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20.

21.
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s C
SECTION C

mify (e & weg it gro mifaaior foeg yer @ 76 @
qrar ? 39 f9fY 1 U oY 991 Tk A 9q1sT |
How do the surgical methods of contraception (sterilization)

prevent conception ? Mention one advantage and one
disadvantage of this method.

How 3TN A 4 Wyfs defor ¢ 4 31U §fE:yar & for M
I 39 fgdias Iw=m & fawy # gwgEe fes e & 9fz.yar =
TR 1 fiei § |l A1 2 |

HAIAT

TSl § SIS 9T STESHT H =7 37a 8, a5y | 399 ¥ TS
&1 Teh-Ueh A9 o Fq13T |

Explain the secondary treatment that is given to the effluent
from the primary settling tank in sewage treatment plants
before the effluent is released into the natural water bodies.

OR

Differentiate between inbreeding and outbreeding in cattle.
Mention one advantage of each one of them.

34 1 1 AW foafan St aa gfaem=mar aerd (HIV) % A3Ha TR
T Y99 & WA W 3Td g1 a1 B | T8 T HY IS 7 @ ? §EIST |

Name the disease that Human Immunodeficiency Virus (HIV)
causes when it enters a human body. How is the disease

caused ? Explain.
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22.

23.

24.

25.
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Sl < Hid WAfHR STHAY &k AT ST B @, Gl SHEY | U
i g foh wufe srgepmu & emien fGdiuss AghAU H 9 99gH
it 3ol & 9g= 11 2 ? Uoh R0 1S |

List the steps of primary succession in water. Why is climax
community reached faster in secondary succession than in

primary ? Give a reason.

Y el 1 3l & A foiflaw S sheh qor g 3F TR *
q1g Yguhi 1 (et Bid1 8 | W1 1 8 fob 2.5 HISShIHI o1 364
FH % IHN & HUEHE G 1 A W & U 550 qTHwES
HqHET AT 8 ? g1 I FaTsy |

Name any two industries that release particulate and gaseous
air pollutants. Why are particulate matters of 2-5 micrometers
or less in size considered very harmful for human health ? Give
two reasons.

HHERRd: SHING AFE $gfo & 3IcUed B & Al #9491 B,
A13T | Toh TR o Tfer Tt 3 359 forg goem 9, awEmsy |
Mention the main challenge for the production of genetically

engineered human insulin. Explain how it was produced by
Eli Lilly, an American company.

foreft SFfifen & ofiat eraifaa (gesrsss) fT T € R % RNA
% $l & fawy § foafEu |

Write the functions of three different types of RNA transcribed
in a bacteria.




r\ .

26. AN Td gleed &t Uieheun R oft, SaEe TR @1y & 98 fAeed o
faftau foE W 7971 Y U i & 918 TH.0E. He g5 a1 | 3

State Oparin and Haldane’s hypothesis and write the
conclusion S.L. Miller arrived at after completing his

experiment.

| 27, 9y wufia gal % ffay fiftn @t $ g s | @ TR §
fereft wer o9 o1 IgTEw EifT | 3

List the various characteristic features of wind pollinated
flowers. Give one example of such a flower.

- @uE D
SECTION D

28. forelt goft R # et fv=m 1 wfskn awzmsT | 5
Jreran

(a) HHE! A IEHIVETT AT HUSTUGHA i fIferm # Fat Fars |

(b) HME IRV % [ET AW YT UP & AYH-3YA HET H1 GUA
i |

Explain the process of double fertilization in a flowering plant.

OR

(a) Differentiate between the manners of spermatogenesis
and oogenesis in humans.

(b) State the functions of the middle piece and the tail of a
human sperm.

57(B) 9 ! P.T.O.




29.
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(a)

(b)

(a)

(b)

(c)

(a)

(b)

(a)

(b)

(c)

ecflg fgaea gt &1 F, @&uuedl 3{ud &1 gl &,
faflaw | 39 SeoEd SEUT w1 WEHT w9 T w5
qm faRgu qen g« fawa & gusmsy |
gV qeT FgsHl JumTfa § =1 FR 8, TAH H Th-TH
IS8 T HHATST |

oG

T IfFAAEEE & Tl & T @y | & JfFasiane fFa
THR ° UE JEFAsiene a9 S 8, MEH 3R A e

B T DNA vifa-Jfaasiierss & Srar @ ?
34 Y@ H T & 98 JHT 99T |
gifcr=Ifaaeierss S@en § 5 a1 3 & @ guid § ?

Write the Fy phenotypic ratio of Mendelian dihybrid
cross. Name and state the law that explains this
phenotypic ratio.

Differentiate = between pleiotropy and polygenic
inheritance with the help of one example of each.

OR

Name the components of a nucleoside. How does a
nucleoside become a nucleotide that polymerises to form
a DNA polynucleotide ?

Explain the complementary base pairing existing in this
chain.

What do 5" and 3" ends in a polynucleotide chain refer
to ?

10




30. TF THd o T TNEATGhl F9 (Shl-a@e) 4 T qRASHT TS
fSroept 389 o1 “Tpet § 3T ITURNY 1§91 FH HNQ R ITH Tohg
YHR H Yeud fhar ST |7 3w fafim wensti & widied, @i
FHANE qAT TR H A & el & @i e GEe’l s g¢
w1 fora |

(a) 39 GRASHT & fa9 W, SR §qTd §T 91 310 FHHATST |

(b) THA H S TG UNME HiT T4 FET & W TAfET IR T2+
goft & Iegreror oft ffve |

(c) 3rE Iufity & Yaua & 13 g fafert gamu |

Members of an eco-club of a school took up a project on
“Reduce the generation of solid waste in the school and how to
manage it”. They worked in close association with the different
class monitors, safai karamcharis and the members of their
school canteen.

(a) Explain your view giving reasons on the topic of the
project.

(b) List, giving examples, the three categories of the waste
generated in the school.

(¢) Suggest any two ways of managing the solid waste.
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